GRUNDRISS
ERDGESCHOSS
WOHNUNG 1

Balkon

1
|

)
O

- 18

s. Wohnzimmer 1

Grundriss ist identisch mit:

>Wohnung 6 (1.0G)
>Wohnung 11 (2. OG)
>Wohnung 16 (3. OG)
>Wohnung 21 (4. OG)
>Wohnung 26 (5. OG)
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Essecke @

*abzuglich 3 % Putz

Schlafzimmer

Lage Wohnung:
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Wohnzimmer 21,61 gm
Sch\afz,mmer ...................... ]232qm
K| ndemmmer ...................... ] 2 32qm
KUChe .................................. 837qm
ESSECke ................................ 927qm
Bad ...................................... 420qm
WC ...................................... 222qm
o 391 qm
Absteliaum 175 qm
Balkon(w/z) .......................... ngm



GRUNDRISS
ERDGESCHOSS
WOHNUNG 2

Kinderzimmer

*abzuglich 3 % Putz

Grundriss ist identisch mit:

>Wohnung 7 (1.0G)
>Wohnung 12 (2. OG)
>Wohnung 17 (3. OG)
>Wohnung 22 (4. OG)
>Wohnung 23 (5. 0G)

Schlafzimmer

Lage Wohnung:

Wohnzimmer
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w
Wohnzimmer 19,06 gm
Schiafimmer 1232qm
Kinderzmmer 1232.9m
KUChe778qm
EsseCke ................................ stqm
Bad ...................................... 420qm
WC ...................................... 205qm
.A bste” raum ........................... 1 . 64qm
Diele 254qm
o 775am
Ba|kon(1/2) .......................... 239qm



G R U N D R I S S Grundriss ist identisch mit: Lage Wohnung: o

: >Wohnung 8(1.0G) / \
ERDGESCHOSS 7! T
>Wohnung 23 (4. 0G)
WOHNUNG 3 : >Wohnung 28 (5. 0G) w
D @
— Kochnische |
_
Wohn-/Schlafzimmer 1.
Diele — : ‘.':.
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1
% -.‘E:.:
E — f, t'-'-'
Wohn-/Schlafzimmer 2823am
K.och‘msc‘he - 5,109 gm
Bad 5,08 gm
Diele 539qm
Loggla ................................. 207 qm

*abzlglich 3 % Putz



Grundriss ist identisch mit: Lage Wohnung:
GRUNDRISS >Wohnung 9 (1.0G)
ERDGESCHOSS = e
: Woh 24 (4.06)
WOHNUNG 4 inh:d:z 29 (5.06)

Essecke

Wohnzimmer

Schlafzimmer

Kinderzimmer

Balkon

*abzuglich 3 % Putz
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Wohnzimmer 19,86 gm
5Ch|af2|mmer ...................... ngqm
K‘ ndemmmer ...................... 1 2 32q m
KUChe .................................. 837qm
Esseckequm
Bd 420 qm
WC ...................................... 222qm
.A bste” raum ........................... : 75 qm
Ba|kon(1/2) .......................... 239qm



GRUNDRISS
ERDGESCHOSS
WOHNUNG 5

Wohnzimmer

*abziglich 3 % Putz

Grundriss ist identisch mit:

>Wohnung 10 (1. OG)
>Wohnung 15 (2. OG)
>Wohnung 20 (3. OG)
>Wohnung 25 (4. OG)
>Wohnung 30 (5. OG)

Essecke

Kiche

Schlafzimmer

%

&

Flur

Lage Wohnung:

Kinderzimmer

N —=m S
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Wohnzimmer 20,07 gm
.S. Ch\afa mmer ...................... ] 232 qm
Kmdemmmer ...................... 1232qm
KUChe778qm
ESSECke ................................ 525qm
Bad ...................................... 420qm
we 205qm
./_.\ bste” raum ........................... 1 64qm
D,e|e .................................... 254qm
Ba|kon(1/2) .......................... 239qm



